
Question -1) Which of the following best describes the author’s view on the Indian political
system after 2014?

A) India has become more democratic with increased citizen participation.
B) India has shifted towards a more authoritarian model of governance.
C) India has maintained its tradition of free and fair elections.
D) India’s political system has remained largely unchanged since its independence.

Question -2) The passage implies that the traditional comparison between India and
Pakistan’s political systems has:
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A) Accurately captured the dynamics of democracy in both countries.
B) Overemphasized the role of military influence in both countries.
C) Failed to account for authoritarian tendencies in India’s political system.
D) Correctly predicted the democratic backlash occurring in both countries.

Question -3) What does the author suggest is a commonality between India and Pakistan in
recent years?

A) Both countries have successfully avoided authoritarianism.
B) Both countries have seen a silent democratic backlash.
C) Both countries have strengthened their military’s role in politics.
D) Both countries have experienced a decline in citizen advocacy for democracy.

Question -4) According to the passage, what has been a significant outcome of the military-
party nexus in Pakistan?

A) Increased stability in the political system.
B) A short-term route to power for political elites with long-term reputational costs.
C) Enhanced military control over the political process.
D) Complete suppression of democratic movements.

Question -5) Based on the passage, which of the following best explains the role of the middle
class in both India and Pakistan regarding authoritarianism?

A) The middle class in both countries consistently supports democratic governance.
B) The middle class in both countries has historically favored authoritarianism at certain times.
C) The middle class in both countries is indifferent to the type of governance.
D) The middle class in both countries has recently begun to oppose all forms of authoritarianism.

Question -6) What does the author imply about the future of democracy in Pakistan?

A) It will continue to deteriorate due to military influence.
B) It is likely to stabilize with continued military-party alliances.
C) It faces uncertainty but is witnessing a deepening citizen advocacy for democracy.
D) It will likely follow the same trajectory as India’s political system.
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